
Minusrechnen (bis 20 000)

Aufgabe 1

1. 18 931 - 5 959 =   

2. 17 032 - 11 712 =   

3. 15 674 - 15 568 =   

4. 12 167 - 7 300 =   

5. 11 202 - 9 815 =   

6. 17 083 - 5 150 =   

7. 15 573 - 6 176 =   

8. 17 955 - 13 391 =   

9. 6 389 - 4 923 =   

10. 17 242 - 12 150 =   

Aufgabe 2

1. 19 636 - 18 837 =   

2. 19 173 - 7 855 =   

3. 18 994 - 5 379 =   

4. 5 435 - 3 373 =   

5. 18 401 - 17 318 =   

6. 19 083 - 18 055 =   

7. 19 619 - 16 471 =   

8. 15 894 - 11 514 =   

9. 9 842 - 7 649 =   

10. 6 546 - 4 760 =   

Aufgabe 3

1. 9 119 - 4 871 =   

2. 12 392 - 9 470 =   

3. 10 003 - 9 150 =   

4. 16 404 - 11 333 =   

5. 10 320 - 6 934 =   

6. 11 222 - 8 819 =   

7. 10 190 - 9 924 =   

8. 8 773 - 7 272 =   

9. 15 565 - 10 608 =   

10. 10 505 - 4 899 =   

Aufgabe 4

1. 4 467 - 3 521 =   

2. 11 519 - 3 022 =   

3. 14 592 - 4 506 =   

4. 17 807 - 11 256 =   

5. 18 684 - 2 969 =   

6. 15 549 - 9 236 =   

7. 5 852 - 3 390 =   

8. 8 375 - 2 119 =   

9. 7 633 - 6 376 =   

10. 13 389 - 13 035 =   
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Minusrechnen (bis 20 000)
| ANTWORTEN

Aufgabe 1

1. 18 931 - 5 959 =  12 972

2. 17 032 - 11 712 =  5 320

3. 15 674 - 15 568 =  106

4. 12 167 - 7 300 =  4 867

5. 11 202 - 9 815 =  1 387

6. 17 083 - 5 150 =  11 933

7. 15 573 - 6 176 =  9 397

8. 17 955 - 13 391 =  4 564

9. 6 389 - 4 923 =  1 466

10. 17 242 - 12 150 =  5 092

Aufgabe 2

1. 19 636 - 18 837 =  799

2. 19 173 - 7 855 =  11 318

3. 18 994 - 5 379 =  13 615

4. 5 435 - 3 373 =  2 062

5. 18 401 - 17 318 =  1 083

6. 19 083 - 18 055 =  1 028

7. 19 619 - 16 471 =  3 148

8. 15 894 - 11 514 =  4 380

9. 9 842 - 7 649 =  2 193

10. 6 546 - 4 760 =  1 786

Aufgabe 3

1. 9 119 - 4 871 =  4 248

2. 12 392 - 9 470 =  2 922

3. 10 003 - 9 150 =  853

4. 16 404 - 11 333 =  5 071

5. 10 320 - 6 934 =  3 386

6. 11 222 - 8 819 =  2 403

7. 10 190 - 9 924 =  266

8. 8 773 - 7 272 =  1 501

9. 15 565 - 10 608 =  4 957

10. 10 505 - 4 899 =  5 606

Aufgabe 4

1. 4 467 - 3 521 =  946

2. 11 519 - 3 022 =  8 497

3. 14 592 - 4 506 =  10 086

4. 17 807 - 11 256 =  6 551

5. 18 684 - 2 969 =  15 715

6. 15 549 - 9 236 =  6 313

7. 5 852 - 3 390 =  2 462

8. 8 375 - 2 119 =  6 256

9. 7 633 - 6 376 =  1 257

10. 13 389 - 13 035 =  354
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